Ap::0.2 P ini=1 L:=0.04 V=2 W,:=0.300
0,,:=21.0 V ,:=22.71 K, :=7.63 K;,:=14.42 P,,:=0.2
€O, =0.03 V ,:=17.64 K ,:=5.08 K,,:=11.99 P.,:=0.2
Ode solver setup
oco,:=stack(21.0, 0.03) ¢t ; =0 t  :=80  steps:=80
Ensure that rx is not assigned. Clear(rl, r2)=1
A .P_.P
1 <) o2 atm
do (t, o)== T.[O.OL[OZO_O] —W_.rl
100 replaced with 1
A .P__.P
1 p T CO2° " Tatm
dco (t, co);:v. T.[0_01.(C020_co]]_|_Ws.r2
-1
COZi
r[ozl'fcozl'rVmIKmIKi]::Vm'OZi‘Km+ 1+— Oy
i
D(t, x, r(5)):= T
( Y ( )) [021 CO21]=:X
rl ::r{o2i, COusy Vorv Kops Kil]
r2 ::r[OQl., COz5 v Vizr Bz Ki2]
T

[do[t, ozl.] dCO[t, coZi]]

oco ::rkfixed[ocoo, t .. ,t. ., steps, D[t, x, r[ozl., Co,,, V., K, Kl]]]

0,. :=augment [col (oco, 1), col(oco, 2))

CO,, := augment [col (oco, 1), col(oco, 3))
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